Anatomy 121
Lumbar Plexus and Introduction to the Pelvis

1.Which structure is NOT found within the true pelvis?
A Femoral nerve
B Hypogastric nerve
C Internal pudendal artery
D Obturator artery
E Pelvic splanchnic nerves

2.A 19-year-old male suffers a tear to the psoas major muscle during the course of a football game. A scar, which formed on the medial part of the belly of the muscle, involved an adjacent nerve, immediately medial to the muscle. The nerve is called the: 
A femoral
B genitofemoral
C iliohypogastric
D ilioguinal
E obturator

3.A structure which takes the form of a hood anterosuperior to the clitoris:
A Frenulum of the clitoris
B Labia majora
C Labia minora
D Prepuce

4.A structure which is homologous to the male scrotum: 
A Labia minora
B Labia majora
C Glans
D Shaft of corpus cavernosum

5.Which skeletal feature would you consider to be most characteristic of the female pelvis? 
A Subpubic angle of 90 degrees or greater
B Marked anterior curvature of the sacrum
C Tendency to vertical orientation of the iliac bones
D Prominent medial projection of the ischial spines

6.While recovering from an open abdominal hysterectomy (i.e., using a midline abdominal incision to gain entry to the pelvis), a patient realizes that she has lost sensation to the skin of her anterior thigh and cannot extend her knee. Retractors holding the incision open and pressing against the posterior abdominal wall most likely caused injury to which nerve?
A Femoral
B Genitofemoral
C Iliohypogastric
D Lateral femoral cutaneous
E Obturator

7.You are observing a doctor perform an abdominal hysterectomy. He notes that it is vital to protect the ureter which is found in the base of the:
A Mesometrium
B Mesovarium
C Mesosalpinx
D Round ligament of the uterus
E Suspensory ligament of the ovary

8.A female patient is found to have an ectopic (tubal) pregnancy. In order to gain access to the peritoneal cavity endoscopically to remove the tubal embryo, the instrument can be passed through the posterior fornix of the vagina piercing into the:
A External os
B Internal os
C Rectouterine pouch
D Rectovesical pouch
E Vesicouterine pouch

9.In the lumbar region, tuberculosis may to spread from the vertebrae into an adjacent muscle to produce an abscess. Pus from the abscess may travel within the fascial sheath surrounding the affected muscle. A patient presents with pus surfacing in the superomedial part of the thigh. To which muscle did the tuberculosis most likely spread?
A Internal oblique
B Obturator internus
C Psoas major
D Quadratus lumborus
E Rectus abdominus

10.The male pelvis tends to differ from the female pelvis in that the male pelvis often has a:
A larger pelvic inlet
B smaller subpubic angle
C straighter sacral curvature
D larger pelvic outlet
E rounder pelvic inlet
11.The nerves of the lumbar plexus are arranged around specific muscles of the posterior abdominal wall. Which of these nerves lies immediately medial to the psoas major muscle.
A Femoral
B Genitofemoral
C Ilioinguinal
D Obturator

12.The rectouterine pouch is the lowest extent ot the female peritoneal cavity. At its lowest, it provides a coat of peritoneum to a portion of the: 
A Urinary bladder
B Urethra
C Uterine cervix
D Vagina

13.In a CT scan of the pelvis, the uterus is located: 
A Posterior to the bladder and rectum
B Posterior to the bladder and anterior to the rectum
C Anterior to the bladder and rectum
D Anterior to the bladder and posterior to the rectum

هذه أول دفعه عاد انتم يبيكم تشيلون بعض المواضيع يلي ماهي داخله معنا



والاجوبه 

1.femoral nerve 
2.obdurator 
3.prepuce 
4.labia majora
5.subpubic angle of 90 degrees or greater 
6.Femoral nerve 
7.Mesometrium 
8.Rectouterine pouch
9.Psoas major
10.Smaller subpubic angle 
11.Obturator 
12.Vagina:
13.Posterior to the bladder and anterior to the rectum

__________________

